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tu;j;jfj;jpd;NghJ tu;j;jfu; nghUisf; nfhs;tpiyapYk; ghu;f;ff;
$ba tpiyapy; tpw;gijNa vjpu;ghu;f;fpd;whu;. mJ rhj;jpakhf ,Uf;Fk;
NghJ tu;j;jfUf;F ,yhgk; fpilg;gjhff; $wg;gLk;.

 ,g;ghlj;ijf; fw;gjd; %yk; ePq;fs;

 tpahghuj;jpd; %yk; fpilf;Fk; ,yhgj;ij my;yJ el;lj;ijf;

fhzy;

 mD$ykpf;f tu;j;jfk; gw;wpj; jPu;khdpj;jy;

 nfhs;tpiy> tpw;gid tpiy> ,yhgk;/el;lk; vd;Dk; %d;W

fzpaq;fspy; ,uz;L jug;gLkplj;J vQ;rpa fzpaj;ijf; fzpj;jy;

 fopT> Fwpj;j tpiy> tpw;gid tpiy vd;Dk; %d;W fzpaq;fspy;

,uz;L jug;gLkplj;J vQ;rpajd; ngWkhdj;ijf; fhzy;

 tpw;gid tpiy> juFr; rjtPjk;> juFg; gzk; vd;Dk; %d;W

fzpaq;fspy; ,uz;bd; ngWkhdk; jug;gLkplj;J vQ;rpajd;

ngWkhdj;ijf; fhzy;

 fopT> juF vd;gd gw;wpa tpsf;fj;Jld; nfhLf;fy; thq;fy; nra;jy;

vd;Dk; Nju;r;rpfis miltPu;fs;.

04rjtPjk;

 4.1  ,yhgKk; el;lKk;

xU wk;Gl;lhid &gh 3 ,w;Ff;

nfhLg;gjhapd; KOf; FtpaiyAk;

vdf;Fj; jhUq;fs;.

je;ijahu;  xU wk;Gl;lhid &gh 5

Mf tpw;why; vkf;F &gh 2 ,yhgk;

fpilf;Fk;.

?
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nghUs;fs; gOjiljy;> Nrjk; miljy; Nghd;w tpNrl
re;ju;g;gq;fspy; mtw;iwf; nfhs;tpiyapYk; ghu;f;ff; Fiwe;j tpiyf;F
tpw;f NeupLk;. mg;NghJ tu;j;jfUf;F el;lk; Vw;gLtjhff; $wg;gLk;.
tu;j;jfu; xUtu; &gh 45 ,w;F thq;fpa md;dhrpg;goj;ij &gh 75 ,w;Fk;
&gh 25 ,w;F thq;fpa gg;ghrpg;goj;ij &gh 55 ,w;Fk; tpw;fpd;whu;.
,q;F md;dhrpg;goj;ij tpw;Fk;NghJ fpilf;Fk; ,yhgk; &gh 30 ck;;
gg;ghrpg;goj;ij tpw;Fk;NghJ fpilf;Fk; ,yhgk; &gh 30 ck; MFk;.
,yhgk; rkkhf ,Uf;fpd;wNghjpYk; gg;ghrpg;goj;ij thq;Ftjw;Ff; Fiwe;j
nryT Vw;gl;bUf;fpd;wikahy;> gg;ghrp tpw;gid md;dhrp tpw;gidapYk;
ghu;f;f mE$ykpf;fjhfj; njupfpd;wJ.

1. rpy nghUs;fspd; nfhs;tpiyfSk; tpw;gid tpiyfSk; ,lk;ngWk;
G+uzkw;w ml;ltiz fPNo fhzg;gLfpd;wJ. mjpy; cs;s
ntw;wplq;fis epug;Gf.

2. gpd;tUk; re;ju;g;gr; Nrhbfs; xt;nthd;wpYk; vt;tu;j;jfk; mE$ykpf;fJ
vd;gijf; fhuzq;fSld; vOJf.

(i) (m) &gh 150 ,w;F thq;fpa fhw; rl;ilia &gh 210 ,w;F tpw;wy;.
(M) &gh 150 ,w;F thq;fpa fTiz &gh 225 ,w;F tpw;wy;.

(ii) (m) &gh 50 ,w;F thq;fpa 1 kg ful;il &gh 80 ,w;F tpw;wy;.
(M) &gh 60 ,w;F thq;fpa 1 kg ful;il &gh 90 ,w;F tpw;wy;.

gapw;rp 4.1

tpw;gid tpiyf;Fk; nfhs;tpiyf;FkpilNa cs;s tpj;jpahrj;ijf;

fhz;gjd; %yk; ,yhgj;jpd; my;yJ el;lj;jpd; msitg; ngwyhk;.

(i) Gj;jfk;      80       115   ------   -------

(ii) Ngid   -------         12.50 ,yhgk;      1.50

(iii) Foe;ijfs;    125       115   ------    -------

         fhw;rl;il
(iv) md;dhrpg;gok;   -------         55 el;lk;      5

(v) irf;fps;  4400    --------- ,yhgk;  900

(vi) gPq;fhd;; Nfhg;igj;  --------        275 el;lk;    25

njhFjp

     nghUs; nfhs;tpiy
&gh

tpw;gid
tpiy &gh

,yhgk;/el;lk;
gw;wpa tpguk;

,yhgj;jpd;;/
el;lj;jpd; msT

&gh
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(iii) (m) cw;gj;jpr; nryT &gh 9500 Md Xu; mYkhupia &gh 15 000

,w;F tpw;wy;.
(M) cw;gj;jpr; nryT &gh  8 000 Md xU Nkiria &gh 13500

,w;F tpw;wy;.
3. tu;j;jfu; xUtu; xU khk;gok; &gh 12 tPjk; 100 khk;goq;fis
thq;fpdhu;. mtw;wpy;  8 khk;goq;fs; gOjile;jikahy; mit
mfw;wg;gl;L vQ;rpa khk;goq;fs; xd;W &gh 20 tPjk; tpw;fg;gl;ld.
tu;j;jfu; ngw;w ,yhgj;ij my;yJ el;lj;ijf; fhz;f.

&gh 25 ,w;F thq;fpa xU Njhlk;goj;ij &gh 40 ,w;F tpw;wiyAk;
&gh 20 ,w;F thq;fpa xU nfha;ahg;goj;ij &gh 33 ,w;F tpw;wiyAk;
fUJk;NghJ

Njhlk;;goj;ij tpw;Fk;NghJ  fpilf;Fk; ,yhgk; =  &gh 15

nfha;ahg;goj;ij tpw;Fk;NghJ fpilf;Fk; ,yhgk; =   &gh 13

,q;F nfhs;tpiy my;yJ ,yhgk; rkkd;W Mifahy;> Kd;du; fw;wthW
mE$ykpf;f tu;j;jfk; gw;wpj; jPu;khdpf;f KbahJ. vdNt> nfhs;tpiy
&gh100 Mf ,Uf;Fk;NghJ xt;nthU tifg; nghUisAk; tpw;Fk;NghJ
fpilf;Fk; ,yhgj;ijf; fUJfpd;Nwhk;.

,jw;Nfw;g
&gh 100 ,w;F thq;fpa Njhlk;goq;fis tpw;Fk;NghJ fpilf;Fk; ,yhgk;
&gh 60 MFk;.
MfNt mJ  60

100
my;yJ 60% vd ehk; fhl;lyhk;.

&gh 100 ,w;F thq;fpa nfha;ahg;goq;fis tpw;Fk;NghJ fpilf;Fk;
,yhgk;  &gh 65 MFk;.
MfNt mJ  65

100
 my;yJ 65% vd ehk; fhl;lyhk;.

    &gh     &gh
1 gok;       25   15

4 goq;fs; 100   60

1 gok;; 20   13

5 goq;fs; 100   65

Njhlk;
gok;
nfha;ahg;
gok;

nfhs;tpiy ,yhgk;

4.2 ,yhg / el;lr; rjtPjk;
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65% > 60% Mifahy;>
nfha;ahg;goq;fis tpw;wy; mD$ykpf;fJ.

jug;gl;Ls;s gpd;dj;ijr; rjtPjkhff; fhl;Ljy; gw;wp ePq;fs; Kd;du;
fw;wPu;fs;. ,jw;Nfw;g ,yhgj;ij my;yJ el;lj;ijf; nfhs;tpiyapd;
gpd;dkhff; fhl;b> mjidr; rjtPjkhf khw;Wtjd; %yk; ,yhg my;yJ
el;lr; rjtPjj;ijf; fzpf;fyhk;.

&gh 60 ,w;F thq;fpa 1 kg muprpia  &gh 75 ,w;F tpw;Fk;NghJ
fpilf;Fk; ,yhgj;ijAk; ,yhgr; rjtPjj;ijAk; fhz;f.
,yhgk; = &gh 75 − &gh 60

= &gh 15

,yhgr; rjtPjk; = 
15

60
100× %

= 
15

60
100

1

4

× %

= 25%

tu;j;jfu; xUtu; &gh 300 ,w;F thq;fpa xU fbfhuj;ij 15% ,yhgk;
ngWtjw;F tpw;Fk; tpiyiaf; fhz;f.

    Kiw I

Nkw;$wpathW xU nghUspd; nfhs;tpiy &gh 100 Mf ,Uf;Fk;NghJ

mjid tpw;Fk;NghJ fpilf;Fk; ,yhgk; ,yhgr; rjtPjk; MFk;.

cjhuzk; 4.1

cjhuzk; 4.2

100 15 115

200 30 230

300 45 345

nfhs;tpiy
&gh

tpw;gid tpiy
&gh

,yhgk;
&gh
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Kiw III

,yhgk; 15% Mifahy;  &gh 100 ,w;F thq;fpa fbfhuk; &gh 115

,w;F tpw;fg;gLfpd;wJ.
∴tpw;gid tpiy =  300

115

100
×

= &gh 345

cw;gj;jp tpiy &gh 750 Md xU nghUs; mjpy; cs;s gOJ fhuzkhf
2% el;lj;Jld; tpw;fg;gLk; tpiyiaf; fhz;f.
Kiw I

el;lk; = &gh750 2

100
×

= &gh 15

tpw;gid tpiy =  &gh 750 − &gh 15

= &gh 735

Kiw II
2% el;lk; Mifahy;> &gh 100 ,w;F thq;fpa nghUs; &gh 98 ,w;F
tpw;fg;gLfpd;wJ.
∴ tpw;gid tpiy    =  

98

100
750×

   =  &gh 735

cjhuzk; 4.3

nfhs;tpiy
   &gh    &gh

100     115

300       ?

















tpw;gid tpiy

<

<

<

<

nfhs;tpiy
   &gh     &gh

100               2

750               ?

















el;lk;

>

>

> >

nfhs;tpiy
    &gh      &gh

100 98

750  ?

















tpw;gid tpiy

>

>

> >

Kiw II

    ,yhgk; = &gh 300 15

100
×

= &gh 45

    / tpw;gid tpiy =  &gh (300 + 45)

 =  &gh 345

nfhs;
tpiy
&gh

,yhgk;
&gh

100 15

300 ?

















>>> >
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tu;j;jfu; xUtu; xU Fwpj;j nghUis &gh 3360 ,w;F tpw;Fk;NghJ
20% ,yhgk; fpilf;fpd;wJ. mjd; nfhs;tpiyiaf; fhz;f.

Kiw I
          tpw;gid tpiy = &gh 3360

mjhtJ nfhs;tpiyapd; 120%=  &gh 3360

nfhs;tpiy =  &gh 100
120

3360

28

×

= &gh 2800

                        ∴ nfhs;tpiy = &gh 2800

Kiw  II

           nfhs;tpiy = &gh x vdpd;

        tpw;gid tpiy = &gh 120
100

× x

                            ∴  
120

100
× x = 3360

                                            x = 3360
100

120

28

1

×

                                            x = 2800

                    ∴ nfhs;tpiy = &gh 2800

cjhuzk; 4.4

    100   120

      x             3360

tpw;gidtpiy
&gh

nfhs;tpiy
&gh



,ytr  tpepNahfj;jpw;fhf40

gapw;rp 4.2

1. &gh 120 ,w;F thq;fpa Foe;ijf;fhd cil xd;iw &gh 150 ,w;F
tpw;Fk;NghJ tu;j;jfu; xUtUf;Ff; fpilf;Fk;
(i) ,yhgk; (ii) ,yhgr; rjtPjk;
Mfpatw;iwf; fhz;f.

2. go tu;j;jfu; xUtu; &gh 750 ,w;F thq;fpa goq;fspd; ,Ug;G
mOfpaikahy;> mjid  &gh 735 ,w;F tpw;fNtz;b ,Ue;jJ.
tu;j;jfUf;Ff; fpilj;j
(i) el;lk; (ii) el;lr; rjtPjk;
Mfpatw;iwf; fhz;f.

3. tu;j;jfu; xUtu; &gh 1200 ,w;F thq;fpa xU kpd;Dgfuzj;ij
&gh 1500 ,w;F tpw;fpd;whu;. mtUf;Ff; fpilf;Fk; ,yhgr; rjtPjj;ijf;
fhz;f. fhuzk; jUf.

4. gPq;fhd; kl;ghz;lq;fis cw;gj;jp nra;Ak; epWtdk; xd;wpy; ehd;F
tifg; ghz;lq;fspd; cw;gj;jpr; nryTfSk; tpw;gid tpiyfSk;
gpd;tUk; ml;ltizapy; fhzg;gLfpd;wd.

(i) Nkw;Fwpj;j kl;ghz;lq;fis tpw;Fk;NghJ fpilf;Fk; ,yhgj;ijj;
jdpj;jdpahff; fhz;f.

(ii) xt;nthU kl;ghz;lj;ijAk; tpw;Fk;NghJ fpilf;Fk; ,yhgr;
rjtPjj;ijj; jdpj;jdpahff; fhz;f.

5. tu;j;jfu; xUtu; &gh 900 ,w;F Kl;ilfis thq;fpdhu;. mjpy; xU
gFjp cile;J tPzhfpaJ. gpd;du; vQ;rpa Kl;ilfis tpw;wjd;;
%yk; 3 % el;lk;; Vw;gl;lJ. ,k;Kl;ilfis tpw;wjd;; %yk; mtUf;F
fpilf;Fk; gzj;ijf; fhz;f.

kl;ghz;lk;   cw;gj;jp tpiy tpw;gid tpiy
 &gh  &gh

G+r;rhb 200 280

Rtu; myq;fhuk; 175 230

rhb 150 210

fpz;zk; 40 55
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6. fha;fwpf; fil cupikahsu; xUtu; 1 kg fha;fwpfspd;  nfhs;tpiyAk;
mtw;iw tpw;gjd; %yk; ngw vjpu;;ghu;f;Fk; ,yhgr; rjtPjKk; fPNo
fhzg;gLfpd;wd.

vjpu;;ghu;f;Fk; ,yhgr; rjtPjj;ijg; ngWtjw;F xt;nthU tiff;
fha;fwpapYk; 1 kg I tpw;f Ntz;ba tpiyiaj; jdpj;jdpahff;
fhz;f.

7. xU filapy; cs;s rpy nghUs;fspd; tpw;gid tpiyfSk;
mg;nghUs;fspypUe;J ngwg;gLk; ,yhgr; rjtPjq;fSk; gpd;tUk;
ml;ltizapy; fhzg;gLfpd;wd.

tu;j;jfu; Nkw;Fwpj;j xt;nthU tifg; nghUisAk; vd;d tpiyf;Ff;
nfhs;tdT nra;fpwhu; vd;gijj; jdpj;jdpahff; fhz;f.

8. xU Fwpj;j tifg; ghy;khg; igf;fw;wpd; cw;gj;jp tpiy &gh 180

MFk;.
(i) cw;gj;jpahsu; 20% ,yhgj;ij itj;Jf;nfhz;L mjid xU
rpy;yiw tu;j;jfUf;F tpw;w tpiyiaf; fhz;f.

(ii) rpy;yiw tu;j;jfu; 15% ,yhgj;ij itj;Jf;nfhz;L mjid
Efu;NthUf;F tpw;w tpiyiaf; fhz;f.

(iii) ghy;khg; igf;fw;wpd; cw;gj;jpr; nrytpYk; ghu;f;ff; $Ljyhf
vt;tsT gzk; Efu;NthUf;Fr; nrythfpd;wJ?

  fha;fwp tif 1 kg ,d; nfhs;tpiy

mtiu 55 20%

ful;L 70 30%

fj;jupf;fha; 45 12%

G+rdpf;fha; 40 15%

vjpu;ghu;f;Fk; ,yhgr;
rjtPjk;

  nghUs;                    tpw;gid tpiy (&gh)  ,yhgr; rjtPjk;
fbfhuk; 2400 20%

gPupRf; Nfhg;igj; njhFjp   520 30%

kpd;  Nfj;jy; 2300 15%

nte;ePu;g; Nghj;jy;   558 24%
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utp - rq;fu; mz;zh> ehd; New;W xU Gj;jfk; thq;fpNdd;.
mjd; tpiy &gh 140 Mdhy; Kjyhsp vd;dplkpUe;J
&gh 119 I khj;jpuk; ngw;whu;. mtu; mg;Gj;jfj;jpw;Ff;
fopT jUtjhff; $wpdhu;. fopT vd;why; vd;d mz;zh?

rq;fu; - jk;gp> fopT vd;gJ tu;j;jfu; Fwpj;j tpiyapypUe;J xU
Fwpj;j gzj;ijf; fopj;J tpw;Fk;NghJ fopf;Fk; gzkhFk;.
nghUspd; Fwpj;j tpiyapd; rjtPjk;jhd; mf;fopthFk;.

utp - mg;NghJ tu;j;jfUf;F el;lk; Vw;gLky;yth?
rq;fu; - ,y;iy jk;gp> mtu;fs; ,yhgj;ij itj;Jf;nfhz;Nl tpiy

Fwpg;ghu;fs;. me;j ,yhgj;jpypUe;Jjhd; mtu;fs; tpiyiaf;
Fiwg;ghu;fs;.
&gh 80 ,w;F thq;fpa xU Gj;jfk; &gh 140 vd tpiy
Fwpf;fg;gLk;. tpw;Fk;NghJ fopT nfhLj;J &gh 119 ,w;F
tpw;fg;gLk;. ,jpy; ,yhgk; fpilf;fpwJ my;yth?

utp - mz;zh> fopT nfhLf;Fk;NghJ gyu; mf;filf;Fg;
nghUs;fis thq;f tUthu;fs;. mg;NghJ tpw;gid
mjpfupf;Fk;. ,yhgk; ngUFk;.

rq;fu; - rup> jk;gpf;Fk; mJ Gupfpd;wJ.
utp - vdJ je;ijahu; mz;ikapy; xU fhzpia tpw;whu;. mtu;

tPl;Lf;F te;J mk;khtplk; $wpdhu;. mtu; ,jw;fhfj; juFg;
gzkhf &gh 25 000 If; nfhLj;jhuhk;. juF vd;gJ fopT
Nghd;wjh mz;zh?

rq;fu; - ,y;iy jk;gp> ehk; fhzpia my;yJ thfdj;ij my;yJ
tPl;bid tpw;Fk;NghJ nfhs;tdthsiuf; fz;Lgpbj;jy;
f\;lk; mj;NjhL mjw;F NeuKk; ,Uf;fkhl;lhJ.
mr;re;ju;g;gj;jpy; nfhs;tdthsiuf; fz;Lgpbg;gjw;F   xUtu;
,Uf;fpd;whu;. mtu;jhd; jufu;. mtUila cjtpAld;
vjidAk; tpw;gjhapd; mtUf;Ff; nfhLg;gdT nra;a
Ntz;Lk;. ,f;nfhLg;gdT juF vdg;gLk;. ,g;NghJ ckJ
je;ijahu; fhzpapid tpw;Wg; ngw;w gzj;jpypUe;J
&gh 25 000 Ij; jufhff; nfhLj;Js;shu;.

utp - ed;wp mz;zh !

4.3  fopTk; juFk;

-

-

-

-

-

-

-

-

-
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tu;j;jfu; xUtu; nghUs; xd;wpw;F &gh 3400 vd tpiy Fwpj;jhu;.
tpw;gidapd;NghJ Fwpj;j tpiyapy; 5% fopT toq;fpdhu;.

(i) toq;Fk; fopT ahJ?
(ii) fopT toq;fp mg;nghUs; tpw;fg;gLk; tpiyiaf; fhz;f.

(i) fopT = &gh 34 00 5

100
×

= &gh 170

(ii) ∴tpw;gid tpiy = &gh 3400 − 170

= &gh 3230

NtW Kiw

fopT 5% Mifahy;> &gh 100 Md nghUs; &gh 95 ,w;F tpw;fg;gLfpd;wJ.

tpw;gid tpiy =
95

100
34 00×

= &gh 3230

∴ fopT = &gh 3400 −  &gh 3230 =  &gh 170

&gh 8500 vd tpiy Fwpf;fg;gl;Ls;s nghUs; xd;W &gh 8075 ,w;F
tpw;fg;gLfpd;wJ. ,q;F toq;fg;gl;Ls;s fopTr; rjtPjj;ijf; fhz;f
fopT = &gh 8500 −  &gh 8075

= &gh 425

fopTr; rjtPjk; = 
425

85 00
100

5

× %

= 5%

jufu; xUtu; xU Fwpj;j fhzpia tpw;gjw;fhf tpw;gid tpiyapy; 3%

Ij; jufhf mwtpLfpd;whu;. mtu; &gh 750  000 ,w;F tpw;w fhzpapypUe;J
(i) ngWk; juFg; gzk; ahJ?
(ii) fhzp cupikahsUf;Ff; fpilf;Fk; gzk; ahJ?

cjhuzk; 4.5

cjhuzk; 4.6

cjhuzk; 4.7

Fwpj;j
tpiyfopT

  &gh    &gh     &gh

>

> >

>5

?

100 >

>>

> 95

?3400

tpw;gid
tpiy







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




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(i) juFg; gzk; = &gh 750000 3

100
×

= &gh 22 500

(ii) fhzp cupikahsUf;Ff; fpilf;Fk; gzk; ahJ?
fpilf;Fk; gzk; = &gh 750 000 − &gh 22 500

= &gh 727 500

xU Fwpj;j tif tpRf;Nfhj;jpd; tpw;gidg; gpujpepjpf;F mtu;
re;ijg;gLj;Jk; tpRf;Nfhj;jpd; ngWkhdj;jpy; 5% jufhff; fpilf;fpd;wJ.
xU khjj;jpy; mtUf;Fj; jufhf &gh 18 300 fpilj;jJ. mk;khjj;jpy;
mtu; re;ijg;gLj;jpa tpRf;Nfhj;jpd; ngWkhdj;ijf; fhz;f.

tpRf;Nfhj;jpd; ngWkhdk;  =  18300
100

5
×

     =  &gh 366  000

NtW Kiw

tpRf;Nfhj;jpd; ngWkhdk; =   &gh  x vdpd;>
juFg; gzk; =  x ×

5

100
 = 18  300

∴ x =  18300
100

5
×

∴ tpRf;Nfhj;jpd; ngWkhdk; =   &gh  366 000

cjhuzk; 4.8

5

re;ijg;gLj;jy;juF
&gh    &gh

>

> >

>

18300

100

?

















    juF
  &gh  &gh
  3 100

    ? 750 000

tpw;gid
tpiy














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gapw;rp 4.3

1. &gh 28 000 vd tpiy Fwpf;fg;gl;Ls;s xU FspNuw;wpia tpw;ifapy;
10% fopT nfhLf;fg;gLfpd;wJ.
(i) FspNuw;wpf;F toq;fg;gl;l fopTj; njhif ahJ?
(ii) FspNuw;wp tpw;fg;gLk; tpiyiaf; fhz;f.

2.

tpohf; fhyj;jpy; xU filf;F Kd;dhy; fhl;rpg;gLj;jg;gl;bUe;j xU
gyif NkNy fhzg;gLfpd;wJ. Nkhfdh ,f;filapy; &gh 350 ,w;F
xU rl;iliaAk; &gh 700 ,w;F ,U ghthilfisAk; &gh 1300 ,w;F
xU fhw;rl;iliaAk; xNu jlitapy; thq;fpdhu;. mtu;

(i) ngw;w fopTj; njhifiaAk;
(ii) nfhLj;j gzj;ijAk;
fhz;f.

3.

&gh 1200 vdf; Fwpf;fg;gl;Ls;s Gj;jfk; xd;W ts;Stu; Gj;jfrhiy>
fk;gu; Gj;jfrhiy Mfpatw;wpy; tpw;fg;gLfpd;wJ.

(i) mjid ts;Stu; Gj;jfrhiyapy; thq;Fk;NghJ Efu;NthUf;Ff;
fpilf;Fk; ,yhgj;ijf; fhz;f.

(ii) mjidf; fk;gu; Gj;jfrhiyapy; thq;Fk;NghJ Efu;NthUf;Ff;
fpilf;Fk; ,yhgj;ijf; fhz;f.

(iii)mjid vg;Gj;jfrhiyapy; thq;Fk;NghJ $ba ,yhgk;
fpilf;fpd;wJ?

(iv) fopTr; rjtPjj;jpw;Fk; (iii) ,w;fhd tpilf;FkpilNa cs;s njhlu;G
ahJ?

(v) fk;gu; Gj;jfrhiy Nkw;Fwpj;j Gj;jfj;jpd; tpw;gid tpiyia
&gh 1300 vdf; Fwpg;gpl;bUe;jhy;> mg;NghJ vg;Gj;jfrhiyapy;
Gj;jfj;ij thq;Fjy; mE$ykpf;fJ? tpilf;fhd fhuzj;ij
tpsf;Ff.

tpw;gid ! tpw;gid!! tpw;gid!!!

vy;yhj; ijf;fg;gl;l MilfSf;F
25% tpiy Fiwf;fg;gl;Ls;sJ !!!

fopT  15% fopT   20%

ts;Stu;
Gj;jfrhiy

fk;gu;
Gj;jfrhiy

fopT 15% fopT 20%
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4. tu;j;jfu; xUtu; xU nghUis thq;fpf;nfhz;L 25% ,yhgk;
fpilf;fj;jf;fjhf mjd; tpiyiaf; Fwpf;fpd;whu;. mtu; mjidf;
iff; fhRf;F tpw;ifapy; Fwpj;j tpiyapy; 4% fopT nfhLf;fpd;whu;.
mtu; mjidf; iff; fhRf;F &gh 840 ,w;F tpw;why;>
(i) mjd; Fwpj;j tpiyiaf; fhz;f.
(ii) tu;j;jfu; mjid thq;fpa (nfhs;) tpiyiaf; fhz;f.

5. ,sq;Nfh Gj;jfrhiy rhfpj;jpa khjj;jpw;fhfr; nrg;nuk;gu; khjj;jpy;
Gj;jfq;fis thq;Fk; Efu;NthUf;F toq;Fk; fopT gpd;tUkhwhFk;.
&gh 5000 ,w;F Nkw;gLk;NghJ 30%

&gh 3000 ,w;FNky; &gh 5000 tiuf;Fk; 25%

&gh 1000 ,w;FNky; &gh 3000 tiuf;Fk; 20%

&gh 1000  tiuf;Fk; 15%

nrg;nuk;gu; khjj;jpy; ,g;Gj;jfrhiyf;Fr; nrd;w epu;kyh> fkyh>
tpkyh MfpNahu; thq;fpa Gj;jfq;fspd; ngWkjpfs; KiwNa
&gh 880, &gh 3050, &gh 2900 MFk;.
(i) %tUf;Fk; fpilf;Fk; fopTfisj; jdpj;jdpahff; fhz;f.
(ii) Gj;jfq;fSf;fhf nrYj;jg;;gLk; gzj;ijj; jdpj;jdpahff; fhz;f.
(iii) 'ehd; $ba ngWkhdKs;s Gj;jfq;fis thq;fpapUe;Jk; tpkyhNt
$Ljyhd nfhLg;gditr; nra;jpUe;jhu;" vdf; fkyh $Wfpd;whu;
,f;$w;Wld; ePu; cld;gLfpd;wPuh? ,jw;fhd fhuzj;ijf; Fwpg;gpLf.

(iv)tpkyh jdJ Gj;jfr; Nrfupg;Gf;F &gh 100 ngWkhdKs;s NtnwhU
Gj;jfj;ijAk; Nrfupj;jpUe;jhy;> NkNy (iii) ,y; cs;s fkyhtpd;
$w;W NkYk; typjhf ,Uf;Fkh? tpilia tpsf;Ff.

6. Fwpj;j fhzp Vytpw;gidahsu; xUtu; xU fhzpapd; Vy tpw;gidg;
gzj;jpypUe;J 3% Ij; jufhf mwtpLfpd;whu;. xU fhzpia
&gh 800 000 ,w;F tpw;Fk;NghJ>
(i) Vy tpw;gidahsUf;Ff; fpilf;Fk; juFg; gzj;ijf; fhz;f.
(ii) fhzp cupikahsUf;Ff; fpilf;Fk; gzj;ijf; fhz;f.

7. Fwpj;j thfdk; xd;iw &gh 1 200 000 ,w;F tpw;Fk;NghJ jufUf;F
&gh 48 000 juFg; gzk; toq;fg;gl;lJ. toq;fg;gl;l juFr; rjtPjj;ijf;
fhz;f.

8. Fwpj;j jufu; xUtu; 5% juFg; gzj;ij mwtpLk; cld;ghl;by; xU
tPl;il tpw;ff; ifNaw;whu;. mtUf;Fj; juFg; gzkhf &gh 35 000

fpilj;jhy;> tPL tpw;fg;gl;l tpiyiaf; fhz;f.


